
6006 6006.5 6007 6007.5 6008
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

6342

6342.5

6343

6343.5

6344

6344.5

6345

6345.5

6346

ru
n

run:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6344}



6006 6006.5 6007 6007.5 6008
cyclenum

100.8−

100.6−

100.4−

100.2−

100−

99.8−

99.6−

99.4−

99.2−

99−

98.8−

98.6−

us
l_

1X

usl_1X:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

4−

3.5−

3−

2.5−

2−

us
l_

4a
Y

usl_4aY:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

45.5

46

46.5

47

47.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

20

20.5

21

21.5

22

us
l_

4e
Y

usl_4eY:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

40−

39.5−

39−

38.5−

38−us
l_

12
X

usl_12X:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

6342

6342.5

6343

6343.5

6344

6344.5

6345

6345.5

6346

ru
n

run:cyclenum {run == 6344}



6006 6006.5 6007 6007.5 6008
cyclenum

156−

155.5−

155−

154.5−

154−us
r_

1X

usr_1X:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

1

1.5

2

2.5

3

us
r_

4a
Y

usr_4aY:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

224.5

225

225.5

226

226.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

14.2

14.4

14.6

14.8

15

15.2

15.4

15.6

15.8

16

16.2

16.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

46.4−

46.2−

46−

45.8−

45.6−

45.4−

45.2−

45−

44.8−

44.6−

44.4−

44.2−

us
r_

12
X

usr_12X:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

6342

6342.5

6343

6343.5

6344

6344.5

6345

6345.5

6346

ru
n

run:cyclenum {run == 6344}



6006 6006.5 6007 6007.5 6008
cyclenum

31125

31125.2

31125.4

31125.6

31125.8

31126

31126.2

31126.4

31126.6

31126.8

31127

31127.2

us
l_

co
il1

usl_coil1:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

6180

6180.5

6181

6181.5

6182

us
l_

co
il3

usl_coil3:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

3409.2

3409.4

3409.6

3409.8

3410

3410.2

3410.4

3410.6

3410.8

3411

3411.2

3411.4

us
l_

co
il4

usl_coil4:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

1256−

1255.5−

1255−

1254.5−

1254−

us
l_

co
il6

usl_coil6:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

15325.5

15326

15326.5

15327

15327.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

6342

6342.5

6343

6343.5

6344

6344.5

6345

6345.5

6346

ru
n

run:cyclenum {run == 6344}



6006 6006.5 6007 6007.5 6008
cyclenum

27495−

27494.5−

27494−

27493.5−

27493−us
r_

co
il1

usr_coil1:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

5289−

5288.5−

5288−

5287.5−

5287−us
r_

co
il3

usr_coil3:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

3841

3841.5

3842

3842.5

3843

us
r_

co
il4

usr_coil4:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

557−

556.5−

556−

555.5−

555−

us
r_

co
il6

usr_coil6:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

20686

20686.2

20686.4

20686.6

20686.8

20687

20687.2

20687.4

20687.6

20687.8

20688

20688.2

us
r_

co
il7

usr_coil7:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

6342

6342.5

6343

6343.5

6344

6344.5

6345

6345.5

6346

ru
n

run:cyclenum {run == 6344}



6006 6006.5 6007 6007.5 6008
cyclenum

441.5−

441−

440.5−

440−

439.5−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

71.5−

71−

70.5−

70−

69.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

18.6

18.8

19

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

472.5−

472−

471.5−

471−

470.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

89.5−

89−

88.5−

88−

87.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

20

20.5

21

21.5

22

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6344}



6006 6006.5 6007 6007.5 6008
cyclenum

173

173.2

173.4

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

36

36.2

36.4

36.6

36.8

37

37.2

37.4

37.6

37.8

38

38.2

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

5.4−

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

183.2

183.4

183.6

183.8

184

184.2

184.4

184.6

184.8

185

185.2

185.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

26.5−

26−

25.5−

25−

24.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6344}



6006 6006.5 6007 6007.5 6008
cyclenum

234.8−

234.6−

234.4−

234.2−

234−

233.8−

233.6−

233.4−

233.2−

233−

232.8−

232.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

83.4−

83.2−

83−

82.8−

82.6−

82.4−

82.2−

82−

81.8−

81.6−

81.4−

81.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

4.5

5

5.5

6

6.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

4

4.5

5

5.5

6

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

422.5−

422−

421.5−

421−

420.5−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6344}

6006 6006.5 6007 6007.5 6008
cyclenum

6342

6342.5

6343

6343.5

6344

6344.5

6345

6345.5

6346

ru
n

run:cyclenum {run == 6344}
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